(0 @) (rad)

10

Ratl

Ratio

1072

105

SICEWATL

1072

o p/p.)

=
<

0.95

0.9

._.
ARAN RAARNRARL

=
o
iN

=

1

— [ MKFITH_
—— DOQM_mkKFit5_X

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

1072

1073

.910—4_ L 1 ||||||! N
@ 12:— 9 ll:l ---------------------------
T TTH+ 11 AR oo
08:1 > .
10 ! TPlpoT (PCA t%obeamliné[f)

,_.
S
L

IMmusPU_base

—— DQM_mkKFit6_XiMinusPU_base

—— DOM_mKkFit6_XiMinusPU_retrainOldFiles125 v2

iMinusPU_retrainOldFiles125_v2_j

prelimWPM_epoch4
prelimWPM_epoch4

=
<
W

H
ALY AL A

o
N

1

H
S
ot

1072

1.2

1.

0.9
0.8

o
JAAA) AL LA

107

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

oo a,) (cm)

1

1



	Contents
	Page 1


